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2A:

HH: Do P202MHIA HB(22/2AAR)

ool 2AoE oot A= (Gt M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
S2NL AYT2I 290 A 58,860 65,400 26,540

308 XXIEHHISO1& 58,860 65,400 26,540
O HXSHZBAZES 58,860 65,400 26,540
O=ANA ALYT2IY 24| N 58,860
ISHOK BAET A (=1) 1,056,531 1,288,740 £232,200
2 704,354
= 32,177
308 XXIEHHISOI R 1,056,531 1,288,740 £232,209
2 704,354
= 32,177
Of IXSHBLEES 1,066,531 1,288,740 £282,200
OHABT 2YX/& 1,066,531
2 704,354
= 362,177
2210/ 28 FBOIA N 240,000 240,000 0
308 XXIEHHIS01& 240,000 240,000
O HXSHBAEES 240,000 240,000
0202 WEYA X2 240,000
BRIl AHIA M3 13,518,953 13,898,624 £379,671
2 195,256
2 2,997,075
| 7,815,963
< 2,510,659
NSABIASTA ZAEA 9I2(21) 603,514 603,514 0
| 603,514
308 XEXIEHAISOI& 603,514 603,514 0
| 603,514
O KX SHBAEES 603,514 603,514 0
ORI ABIALTAL X2 603,514
| 603,514
KAt SEALSTAS (FD)(HE) 229,000 254,000 25,000
| 114,500
= 114,500
201 2et2 | 6.000 10,000 £4,000
| 3,000
= 3,000
01 AlR 22l 6.000 10,000 £4,000
OXISAE] SEALSTALY 6.000
| 3,000
= 3,000
202 01t 3,000 3,000 0
| 1,500
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FA BAAMZHE
M =S BACIRMHIA HB(22/22A2/R)
CHel: BMAZIBR| MHIA RIZ (12l M2
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
< 1,500
01 2L AL 3,000 3,000 0
OXISHAte SeALSTAIY 2,500
Jl 1,250
= 1,250
ORXIAAE SEALSTAL(SRA) 500
7l 250
=S 250
303 Z&a= 5,000 5,000 0
Il 2,500
< 2,500
01 Za= 5,000 5,000 0
OAZHMEINE AT A2 Eo 5,000
Il 2,500
= 2,500
307 lztol & 215,000 236,000 /21,000
Il 107,500
= 107,500
05 2IHRIE 3 215,000 236,000 221,000
OSESALSTUMIXAL 2 215,000
Jl 107,500
< 107,500
XSS SEAYSHAL (1) 4,255,391 4,680,022 N424,631
Il 3,546,159
= 709,232
308 AFAIEHMSOIH 4,255,391 4,680,022 A424,631
7l 3,546,159
= 709,232
01 AXENB 2 LS 4,255,391 4,680,022 N424,631
O=E24 SEALSTIAE XN 4,255,391
Il 3,546,159
== 709,232
220 SEA LEALHA XJA(R1) 265,960 255,772 10,188
) 236,409
= 29,551
308 AHAIEHMSOIE 265,960 255,772 10,188
Il 236,409
= 29,551
01 AXEH B EES 265,960 255,772 10,188
022503t dtAAH ]| 265,960
Jl 236,409
= 29,551
2SH+SAN SFORALB XA (21) 15,507 21,600 26,093
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FA BAAMZHE
M =2 BAHYSMHIA MBS (EAH/E2498)
Chol: BAIIZIRD| AHIA HIZ CERL)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
Il 16,507
308 AXIHSOIA 16,507 21,600 26,093
Il 16,507
01 XN BSELES 16,507 21,600 26,093
O22g0+a=dt ER0IAZZ A 15,507
J| 15,507
GR0F 22 F2UAA XA (21) 20,676 31,320 10,644
Il 16,541
s 4,135
301 LEtE N = 20,676 31,320 10,644
Jl 16,541
& 4,135
01 Al EE A S (2 RNEXR) 20,676 31,320 10,644
OE =0t & FEZA 20,676
) 16,541
= 4,135
S22 0rSAN HUATAY 2E(21) 18,000 18,000 0
7l 18,000
308 AXItHSO0IA 18,000 18,000 0
) 18,000
01 XN B2 LS 18,000 18,000 0
Oo=1Hgddd 28 & g8 18,000
Jl 18,000
AAZOHS RAXZHH JZH L 2| X2 (21) 312,410 302,080 10,330
= 195,256
=S 17,154
308 XXM SOl 312,410 302,080 10,330
= 195,256
== 17,154
01 XN BSELS 312,410 302,080 10,330
OAHSFH F2M2dH 22 A 312,410
= 195,256
< 17,154
NAAEI S S MEIA(ZD)(EE) 41,140 45,400 N4,260
7 20,570
= 20,570
201 =3 22,000 44,200 N22,200
Jl 11,000
=S 11,000
01 At2teltl 22,000 44,200 22,200
OsgAMY 2g € g8 22,000
Jl 11,000
[ 11,000
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FA BAAMZHE
M =2 BAHYSMHIA MBS (EAH/E2498)
CHel: BMAZIBR| MHIA RIZ (12l M2
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
202 04l 1,140 1,200 260
Il 570
== 570
01 =LHAHI 1,140 1,200 260
OscAIY =N 1,140
) 570
S 570
308 XXM SOIE 18,000 0 18,000
7l 9,000
= 9,000
13 S [2S0tHet 4 A AS A 18,000 0 18,000
OsSgAMY 8= 18,000
Il 9,000
s 9,000
XAtelES 4 SHRAMEIA(S1) 2,427,324 2,679,168 N251,844
) 2,022,770
S 404,554
308 AtAIEHMSOIE 2,427,324 2,679,168 N251,844
Jl 2,022,770
= 404,554
01 XN EES 2,427,324 2,679,168 A251,844
OXSAteI S S HAXFAMHIA 2,427,324
Jl 2,022,770
= 404,554
MNAsSE 2SR (22) 154,670 113,230 41,440
Jl 108,270
[ 46,400
403 MR HHMSAHE01H 154,670 113,230 41,440
) 108,270
= 46,400
02 SVI2S0 e H=E 2 E AL 154,670 113,230 41,440
ONASE sHIIZXEH 154,670
Il 108,270
= 46,400
224 HEEE MEIF |]4(=1) 15,345 20,440 25,095
Il 15,345
308 AtXIEHMSOIE 15,345 17,520 A2,175
Jl 15,345
01 XN BSELES 15,345 17,520 A2,175
outgdat 2| & ALAAN d2It WF 15,345
) 15,345
NS BAAY LAt 22 JS25 WFHE 2S( 7,640 13,580 A5,940
22)




FA BAAMZHE
M =2 BAHYSMHIA MBS (EAH/E2498)
Chol: BAIIZIRD| AHIA HIZ CERL)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
7l 7,640
308 AXIHSOIA 7,640 11,640 24,000
Il 7,640
01 XN BSELES 7,640 11,640 24,000
OXNS 2AAMY Al gt WS 7,640
Jl 7,640
AC OIELAEA NSFHLHH 2 (=1) 390,000 390,000 0
Il 195,000
= 195,000
307 elztol & 390,000 390,000 0
Jl 195,000
< 195,000
05 212t =S 390,000 390,000 0
OAlZz OIELIEA WSHEHEH 23 390,000
) 195,000
= 195,000
gEAd2e|A(21) 3,596,490 3,522,619 73,871
= 2,997,075
= 599,415
308 XtXIEMSO0IE 3,596,490 3,522,619 73,871
s 2,997,075
== 539,415
01 XN BSELS 3,596,490 3,522,619 73,871
OgEAL A 3,59%,490
= 2,997,075
== 539,415
Az XSXE AHZ(21) 75,000 0 75,000
Il 75,000
308 AXIHSOIA 75,000 0 75,000
Jl 75,000
01 AX N B2 LS 75,000 0 75,000
oRAz X=X 75,000
7l 75,000
S| EEA o=l X (21) 984,886 916,879 68,007
7l 820,738
= 164,148
308 XtXIEMSO0IE 984,886 916,879 68,007
7 820,738
=S 164,148
01 XN BSELES 984,886 916,879 68,007
Os|HEeAt 2=gdl X& 984,886
Jl 820,738
[ 164,148
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FA BAAMZHE
M =2 BAHYSMHIA MBS (EAH/E2498)
Chel ARROIZR mezalx 2t (choy: @2
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
O MAL=FAHE XS 284,258
Jl 142,129
== 142,129
JI=FUALY=ZXHNH X (22) 561,880 551,880 0
Il 459,900
= 91,980
308 AtXIEHMSOIE 551,880 551,880 0
Jl 459,900
= 91,980
01 HXSHH B EES 551,880 561,880 0
OJI=8aAZ =AM XIS 561,880
Jl 459,900
=S 91,980
FoALSILEY H&S(=50)(2E) 1,427,586 1,122,930 304,656
) 713,793
S 713,793
307 @I2to| & 1,427,586 1,122,930 304,656
Jl 713,793
= 713,793
02 QB HANEER 1,427,586 1,122,930 304,656
OZAFLAUSANE elE=E 1,427,586
7l 713,793
= 713,793
FAUAL=THH =&E(=21) 4,663,060 4,336,932 326,128
Jl 3,885,884
< 777,176
308 AXIHSOIA 4,663,060 4,336,932 326,128
) 3,885,884
S 777,176
01 HASHHBAEXS 4,663,060 4,336,932 326,128
OIIZHUAUSXLE &S 4,663,060
Il 3,885,884
= 777,176
SSHAALSTAY X2 (Z22)(HF) 300,000 295,000 5,000
Jl 150,000
== 150,000
307 elztol & 300,000 295,000 5,000
Jl 150,000
< 150,000
02 2B YA R E A 300,000 295,000 5,000
OSEHUALSTAIY XA (24) 300,000
) 150,000
= 150,000
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2A: BAHAZ oL
HE: D P2A0I2MHIA HB(2A/2AR
Chel ARROIZR mezalx 2t (crof:m2)
SA - B S9I(B1) - KIRA - ol ke e HlmS2
307 212+01 A 228,660 0 228,660
= 114,330
= 114,330
02 QIRHHAAIHE X 228,660 0 228,660
OZYu==ocSEXAMYH 8= 228,660
= 114,330
= 114,330
ESSACISEAMYH s F(=1) 274,392 0 274,392
= 228,660
& 45,732
308 AHXIHMSOI & 274,392 0 274,392
= 228,660
= 45,732
01 IXSHHBLERS 274,39 0 274,39
OJ|=z==s2c/SEXJHEH 1E==E 274,3%
= 228,660
= 45,732
HAEEA 124 A& (=21) 74,400 117,600 A43,200
= 62,000
& 12,400
308 AAXISHMSOIN 74,400 117,600 A43,200
= 62,000
& 12,400
01 AXSHHBLEERS 74,400 117,600 243,200
OFMEEX XI=Hl XA 74,400
= 62,000
= 12,400
=0 OISEXN KAAE(21) 1,384,514 0 1,384,514
= 1,153,951
& 230,563
308 AXISHMSO0IN 1,384,514 0 1,384,514
= 1,153,951
& 230,563
01 AXSHHBAEXRS 1,384,514 0 1,384,514
OM=0 OISEX K& 1,384,514
= 1,153,951
T 230,563
Aratogt & HAHLSTAIL(Z2D) 376,522 376,522 0
| 313,768
= 62,754
308 AXISHMSOIN 376,522 376,522 0
J| 313,768
& 62,754
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FA BAAMZHE

B mEe PA0IRMUIA HR(22/2AAR)

SI9l AROIYE HYBaIR 2 (crof:m2)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
e K= AASAHHIA X(22) 405,000 390,000 15,000

Jl 337,500
== 67,500
308 AXIMSOIA 405,000 390,000 15,000
) 337,500
< 67,500
01 HAHHBAEEXS 405,000 390,000 15,000
OXtet K= FASEMHIA XA (AZ) 405,000
Jl 337,500
= 67,500
MPZESOHH0IE 2 X (=1) 36,000 0 36,000
7l 30,000
=S 6,000
308 XXM SOIA 36,000 0 36,000
Jl 30,000
< 6,000
01 XN BSELES 36,000 0 36,000
odEESAY0IE =28 A& 36,000
) 30,000
S 6,000
Aattle & dHESAE 336,970 298,597 38,373
307 212+01& 90,000 90,000 0
02 LB AAHE L 90,000 90,000 0
OZ XA THE At X 90,000
308 XXM SOIA 246,970 208,597 38,373
01 XN B2 LS 246,970 208,597 38,373
OAtariguy 29 X3 9,135
OXtai2 AtHl & M50 X3 180,835
HEXZO0| Atedi2el s XN 92,963 92,963
308 AtXIEMSOIH 92,963 92,963
01 AXEH B ELES 92,963 92,963
OdHXIZO0l Atell2e| s K& 92,963
ZAXNEE 22 (21) 655,509 642,941 12,568
Jl 458,856
s 196,653
307 elztol & 655,509 642,941 12,568
Jl 458,856
< 196,653
05 212t =S 655,509 642,941 12,568
OZSXIHeE 24 655,509
) 458,856
= 196,653
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FA: 2AASHE
B mEe PA0IRMUIA HR(22/2AAR)
SI9l AROIYE HYBaIR 2 (crof:m2)
RA - BE - SHAEH) - HRA - BAS ol &t e HIDEY
XIoHota M 2HXIR(Z2D) 7,447,501 9,451,982 22,004,481
J| 7,002,858
== 364,643

308 AHXIEMISOIE 7,447,501 9,451,982 /2,004,481
Il 7,092,858
< 364,643

01 X SHHNBAEXS 7,447,501 9,451,982 22,004,481
OXIjete M 2EXI& 7,447,501
Jl 7,092,858
= 364,643

ST SSFAH XZAE(2D)(2E) 4,954 6,027 A1,073
Il 3,468
=S 1,486

307 212t01™ 4,954 6,027 A1,073
J| 3,468
< 1,486

02 QI HAANEE X 4,94 6,027 1,073
OsSXI=e 3= A& 4,954
Il 3,468
< 1,486

SEXL B3FA XNEAS(=1) 34,971 37,233 N2,262
Il 31,085
= 3,886

308 XtXIEMSOIE 34,971 37,233 N2,262
Jl 31,085
s 3,886

01 HREHH B E2ES 34,971 37,233 N2,262
OSSN s5=H XA =29 34,971
Il 31,085
[ 3,886

XIHxIZ2eld] K@ (HEAY) 1,285,638 1,156,800 128,838

308 AHXIHMSOIA 1,285,638 1,156,800 128,838

01 X SHHEAEES 1,285,638 1,156,800 128,838
OXIONXIZ2eldl X2 (&E) 1,285,638

Al gz sogae g (2 0)(RE) 69,412 69,412 0
J| 34,706
s 34,706

307 212to1™ 69,412 69,412 0
Il 34,706
< 34,706

05 2I2tRIE =S 69,412 69,412 0
O LAY N 28 69,412
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